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Nrngc : Question No, t is compulsory, answer any.FIVE questionsfromtlp renaining,

: (ti) v-#vw+w? ffiatfrqqrcwaqtdfrfut t
Solve all parts of a question consecutivety together.'

(iii) vdq vwoi tiy v nw frfui r

Start each qws.tion onfresh page.

(iv) al# xNMl i em dlt 6 pfr t aitfr aEeE fr qH t t
&tly English version is valid in case of difference in both ttw langtuges...

1:o薇 詢 輌 田 →前 mm満 郡取 l

L  Delne PWM With help ofWave.

“

)Ⅲ 赫 督3面嵩 町 自 哺 蘇爺 稀 師揮 莉 お t?

Whatis Uplink tequency and downlink tequency in satelllL cornmunication?

tini)3蒔n乖 11術 で ‖鳴ゃ静 積 中ul嘲H劇 ギloロマqttt?1面貞 |

Why Phasing is n∝,SSI町 in Transmitter and recdver h facsimile sys"m?

(市)¬嘔Ч引l命ti―鍮:竜可青囀用劇可哺 l    ´
Clive a relation between info― tion and probabilityof an event occ― nce。

●)命珊ロホ載漏[1でFミ凛金aH憫 1¬田ポ}t?漏蒔むl

Whatis meant by“ Cer'in mObile c6mnunication system?
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① 瓢 輛 翻 前 t?む ―満 繭 論硼 哺 |

Ⅵ atiS“alnOuht ofinfomatior'?嵌 plain Shmon‐Hmely telilDrem。   1

0甲 爾 師 お舗 奇]繭 前 1=:,ぃ
:,島
L:?黎 =士 ,L=金 ,L

=金 tl甲 希腋 1申綱 毛融 1薇爾 事 く讚 れ 駅 mt,命
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An event has slx posslble outcomes ЧAth the Pい obatttiesPI二
::lP2=:,P3=

:,L=発 ,L=豊,L=士
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rate of information if there are 16 outcomes per seconds.

5. (i) +fuftfiiqsirrrsus orfrqrfl{+qigqfld I

Draw and explain the block diagram of facsimile transmitter.

(ii) ,ffi wnfr fr goqEEpr, rmrr gE mn Hfl? tilt/+gr$'Wqnt ut rrF
qqE+ 

r

Explain the significance'of synchronization, phasing erroraod srme,heighUwidth
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四 載 含翻 翻 研 甫 t?で□ 載 |

What is the Quantization error ? Explain.

(ii) .AsKt qrqilrqqgtt tnsr*qtswEhlsrgffisq srfrqemqrrtmfr r i

What is meant by ASK ? Explain ASK modulation with suitable block diagram.
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(i) S#q{qrwr+ilqft{fuq I

Write the advantages of digital communication.

(ii) qt qftctr d+a 6 silqF 6 knz t, d o+ qfu rilfr + fse Pcilr{A;il'ff
tusdEr$irmfrftq r

If analog signal frequency is 6 kllz, then calculate the PCM signal bandwidth for
64 QuantiZation tvels.

‐
      (6x2)

(6x2)

3158

ratio for facsimile system. ‐   (6x2)
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o. (r, iT-u ir,- fit[ud + allm wft HqR yutrfrr n Bq?irq fi ErHr 31rt6 tug d1 qili f

Explain frequency band used for satellite cornmunication according to ITU
Standard.

(ii) sqru{qnyunildrgml-€lraqilqusstfuEitrsrrffitr , I

Explain the block diagram of Earttr station for the satcllirc cornmunication
. systcm. (6p)

' 7. (i). smtdql(+s$+ilq1wsrd | ,

'Exptain the applications of satellite cornmunication.

Dbscribe the basic concept of Cellular Telephone Sysrcm. (6)0)

8. ffidtqrdffiqfrqsftftftrq,
Write short notes on :(any two)

(i) $utrFmira
Satellite Commtnication System

(ii) sifiqriqRaa

Digltal Communication Sj,srcm
\.(iii) ql.rrffr

,Mobile 
Communication System (610)
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